




• Four statements are given followed by four conclusions. Mark which of the given 

conclusion(s) definitely follows from the given statements even if they seem to be at 

variance from commonly known facts.

• Statements:

• 1. Some cats bark.

• 2. Those who bark do not sleep.

• 3. All elephants sleep.

• 4. No cat is elephant.

• Conclusions:

• I) Some cats do not sleep.

• II) Some elephants bark.

• III) The cats that bark are elephants.

• IV) Elephants that do not bark are cats.

1. Only conclusion I follows.

2. Only conclusions I and II follow.

3. Only conclusions III and IV follow.

4. Only conclusion III follows.



• Which number will replace the question mark (?) in the following series?

• निम्िनिनित श्रृंििा में प्रश्नवाचक नचन्ह (?) के स्थाि पर कौि ी  ीृं्या एगी ?

• 14, 14, 28, 84, 336, ?

• 1. 1620

• 2. 780

• 3. 2020

• 4. 1680



• In each of the written questions, which set of letters when sequentially placed at the blanks 

will complete the given letter series?

• निनित प्रत्येक प्रश ्में अक्षरों का कौि-ीा ीमहू िाि  स्थािों पर क्रमवा रििे ीे द  ीई अक्षर श्रृंििा को परूा 

करेीा ?

• c_ab_ca_bc_a

(a) bcab

(b) bacb

(c) abcb

(d) cbac



•1,  9,  25,  50,  81,  

A.1

B.25

C.50

D.81



• Select the related word/letter/number from the given alternatives.

• नदग ीग नवकल्पों में ीे ीृंबृंनित शब्द/अक्षर/ीृं्या को चनुिग।

• 138: 161: 144: ?

A.165

B.166

C.167

D.168



• Select the related word/letter/number from the given alternatives.

• नदग ीग नवकल्पों में ीे ीृंबृंनित शब्द/अक्षर/ीृं्या को चनुिग।

• KMNP : ACDF : : PRSU : ?

A.TVWY

B. VXYZ

C. LNPR

D.STVW



• In a school, the bell rings after every half an hour. School starts at 8:00 am and closes at 

1:30 pm. The bell rings three times at the beginning of school, at 10:00 and 10:30 am 

during the mid-day break and at the end of school. How many times does the bell ring each 

day?

• गक नवद्यािय में, प्रत्येक एिे घृंटे बाद घृंट  बजत  ह।ै नवद्यािय प्रातः 8:00 बजे प्रारम्भ होता ह ैऔर ीायृं 1:30 

बजे बन्द हो जाता ह।ै नवद्यािय प्रारम्भ होिे, मध्याह्न अवकाश पर 10:00 और 10:30 बजे प्रातः और नवद्यािय 

ीमानि पर घृंट  त ि बार बजत  ह।ै प्रत्येक नदि में नकति  बार घृंट  बजत  ह?ै

A. 21

B. 22

C. 19

D. 20



• Anil reached a place on Friday, he found that he had arrived three days before the 

appointed day, if he had reached there on the coming Sunday, how many days later or 

earlier would he have reached?  

• अनिि शकु्रवार को गक स्थाि पर पह ृंचा, उीिे पाया नक वह नियत नदि ीे त ि नदि पहिे पह ृंचा था, यनद वह वहाृं 
एिे वािे रनववार को पह ृंचा होता, तो वह नकतिे नदि बाद या पहिे पह ृंचता?

(a)a day before

(b)a day after 

(c)two days after 

(d)two days before



• Eight friends Arvind, Vishwas, Dhananjay, Javed, Rahul, Sharad, Smriti, Sushil are sitting 

in a row facing north.  Sharad sits fourth from the end of the right side of the row.  Smriti is 

the neighbor of Rahul and Arvind.  Sushil is an immediate neighbor of Sharad.  Dhananjay

is not an immediate neighbor of Sushil.  Vishwas sits at extreme left end and Rahul is his 

neighbor.  Who sits second to the left of the one who is third to the right of Arvind?

• एठ नमत्र अरनवृंद, नवश्वाी, ििृंजय, जावेद, राह ि, शरद, स्मरनत, ीशु ि गक पृंनि में उत्तर की ओर मिु करके बैठे

हैं। शरद पृंनि के दायें छोर ीे चौथे स्थाि पर बैठा ह।ै स्मरनत राह ि और अरनवृंद की पडोी  ह।ै ीशु ि, शरद का 

निकटतम पडोी  ह।ै ििृंजय, ीशु ि का निकटतम पडोी  िहीं ह।ै नवश्वाी गकदम बायें छोर पर बैठा ह ैऔर राह ि 

उीका पडोी  ह।ै अरनवृंद के दायें ीे त ीरे के बायें ीे दीूरे स्थाि पर कौि बैठा ह?ै

A.Jawed

B. Vishwas

C. Sharad

D.Sushil



• An insect can walk in both forward and reverse directions.  He walks forward for 3 minutes 

and then reverse for 2 minutes.  He walks at the speed of 5 meters per minute.  In what 

minimum time will he be able to cover 105 metres?

• गक कीट एीे और प छे दोिों नदशाओ ृं में चि ीकता ह।ै वह 3 नमिट एीे चिता ह ैऔर निर 2 नमिट के निग 

उल्टा चिता ह।ै वह 5 म टर प्रनत नमिट की रफ्तार ीे चिता ह।ै वह नकतिे न्यिूतम ीमय में 105 म टर की दरू  

तय कर पागीा?

A.105

B.21

C.93

D.100



• Select the option that represents the correct order of the given words as they would appear 

in an English dictionary.

• उी नवकल्प का चयि करें जो नदग ीग शब्दों के ीह  क्रम का प्रनतनिनित्व करता ह ैजैीे वे अृंग्रेज  शब्दकोश में

नदिाई देंीे।

• 1. Understand

• 2. Untie

• 3. Uncle

• 4. University

• 5. Unlimited

• 6. Unknown

1. 3, 1, 4, 6, 5, 2

2. 1, 3, 4, 6, 5, 2

3. 1, 4, 3, 6, 5, 2

4. 3, 1, 6, 4, 5, 2



• Mohan walked 8 m towards the North. He turned to his right and walked 16m, then turned 

to his left and walked 5m and again he turned to his left and walked 16m. Now how far is 

he from his starting point?

• मोहि 8 म टर उत्तर की ओर चिता ह।ै वह अपिे दायें मडुता ह ैऔर 16 म टर चिता ह,ै निर वह अपिे बायें 

मडुता ह ैऔर 5 म टर चिता ह ैऔर निर ीे वह अपिे बायें मडुता ह ैऔर 16 म टर चिता ह।ै अब वह अपिे 

शरुुएत  नबृंद ुीे नकति  दरू ह?ै

A.32

B.23

C.13

D.16



•COUNT THE TRIANGLE

A.26

B. 28

C. 30

D.25



• Find the value of Missing???

1

3
6

3

45

4

?
2

A.1

B. 3

C. 6

D.5



• Pointing to a photograph Arju said, "He is the son of the only son of my grandfather." How 

is the man in the photograph related to Arju?

• गक तस्व र की ओर इशारा करते ह ग एरज ूिे कहा, "वह मेरे दादा के इकिौते बेटे का बेटा ह।ै" तस्व र में नदि 

रहा व्यनि एरज ूीे नकी प्रकार ीृंबृंनित ह?ै

A. Brother

B. Uncle

C. Son

D. Sister



25 49 16

36 81 64

11 16 ?
A.12

B.20

C.18

D.13


